CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. C. DURHAM

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BID

FEBRUARY 1, 2024

2139-3107D (9.2)

BIDDER'S NAME

1) CE BARKER LTD.	\$1,497,151.79
2) TEXASITE, LLC	\$1,602,206.00
3) BAY UTILITIES. LLC	\$1,609,797.40
4) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$1,621,700.00
5) CROSTEX CONSTRUCTION INC.	\$1,635,000.00
6) R CONSTRUCTION CIVIL, LLC	\$1,882,764.90

CALENDAR DAYS 50/60

I, Louis Mui, P.E., hereby certify these bid tabulations to be true and correct.

LOUIS A. MUI

3. 148307

CENSE

ONAL ENG

2/1/2024

Page 1 of 9 FRN F-1386
LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS

FEBRUARY 1, 2024 LJA ENGINEERING, INC.

C. DURHAM FEBRUARY 1, 2024 2139-3107D (9.2)

			1) CE BAF	RKER LTD.	2) TEXAS	ITE, LLC	3) BAY UTIL	ITIES. LLC
ITEM DESCRIPTION	UI	IIT QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS - SECTION 7								
1 8" PVC WATER LINE PIPE, C-900, DR 18, CL 235, ALL DEPTHS, TO INCLUFITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	IDE LI	2900	\$25.00	\$72,500.00	\$36.00	\$104,400.00	\$35.00	\$101,500.00
2 8" PVC WATER LINE PIPE, C-900, DR 18, CL 235, RESTRAINED JOINT WA ALL DEPTHS, TO INCLUDE FITTINGS, BEDDING AND BACKFILL, COMPLE PLACE		1037	\$35.00	\$36,295.00	\$45.00	\$46,665.00	\$41.00	\$42,517.00
3 12" PVC WATER PIPE, C-900, DR 18, CL 235, RESTRAINED JOINT WATER DEPTHS, TO INCLUDE FITTINGS, BEDDING AND BACKFILL, COMPLETE I		= 22	\$70.00	\$1,540.00	\$83.00	\$1,826.00	\$80.00	\$1,760.00
4 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LI	3959	\$0.01	\$39.59	\$1.00	\$3,959.00	\$0.10	\$395.90
5 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" G/ & BOX, 6"" LEAD AND FIRE HYDRANT, TRENCH SAFETY, COMPLETE IN F		Α 9	\$5,000.00	\$45,000.00	\$6,150.00	\$55,350.00	\$5,800.00	\$52,200.00
6 8" AWWA GATE VALVE AND BOX AND ADJUSTMENTS AS NECESSARY, COMPLETE IN PLACE	E	A 16	\$1,500.00	\$24,000.00	\$1,950.00	\$31,200.00	\$1,700.00	\$27,200.00
7 8" PLUG AND CLAMP, COMPLETE IN PLACE	E	A 5	\$250.00	\$1,250.00	\$350.00	\$1,750.00	\$200.00	\$1,000.00
8 2" BLOW-OFF VALVE AND BOX, COMPLETE IN PLACE	E	A 5	\$750.00	\$3,750.00	\$850.00	\$4,250.00	\$600.00	\$3,000.00
9 REMOVE AND DISPOSE OF 8" PLUG AND CLAMP & BLOW-OFF VALVE A CONNECT PROPOSED 8" WATER LINE, COMPLETE IN PLACE	ND E	A 2	\$1,500.00	\$3,000.00	\$350.00	\$700.00	\$2,000.00	\$4,000.00
10 REMOVE AND DISPOSE OF 12" PLUG AND CLAMP & BLOW-OFF VALVE OF CONNECT PROPOSED 12" WATER LINE, COMPLETE IN PLACE	AND E		\$1,500.00	\$1,500.00	\$450.00	\$450.00	\$2,300.00	\$2,300.00
11 1" COMBINATION AIR RELEASE VALVE (APCO MODEL 1430, VALMATIC 2 APPROVED EQUAL) FOR 8" WATERLINE, INCLUDES TRAFFIC MODEL CO BOX WITH 1/4" STEEL LID HOT DIP GALVANIZED, ALL FITTINGS AND ALL APPURTENANCES PER CITY OF MAGNOLIA STANDARD DETAIL, COMPL PLACE	ONCRETE L OTHER		\$6,000.00	\$6,000.00	\$5,550.00	\$5,550.00	\$2,100.00	\$2,100.00
12 SHORT SIDE SINGLE OR DOUBLE SERVICE, 1" (CTS POLYETHYLENE, SI WATER SERVICE, INCLUDES TRENCH SAFETY, CURB STOP, MARKER A NECESSARY CONNECTORS, PLUGS AND TAPS, COMPLETE IN PLACE		A 29	\$650.00	\$18,850.00	\$680.00	\$19,720.00	\$700.00	\$20,300.00
13 LONG SIDE SINGLE OR DOUBLE SERVICE, 1" (CTS POLYETHYLENE, SD WATER SERVICE, INCLUDES TRENCH SAFETY, CURB STOP, MARKER A NECESSARY CONNECTORS, PLUGS AND TAPS, COMPLETE IN PLACE		A 36	\$850.00	\$30,600.00	\$1,550.00	\$55,800.00	\$1,400.00	\$50,400.00
14 ADDITIONAL CAST IRON FITTINGS, COMPLETE IN PLACE	TC	N 2	\$2,000.00	\$4,000.00	\$2,550.00	\$5,100.00	\$2,800.00	\$5,600.00
15 UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STA PROCTOR DENSITY (WITHIN 1 MILE OF ESCONDIDO OVERALL DEVELOI LIMITS), COMPLETE IN PLACE		Y 1230	\$1.06	\$1,303.80	\$2.00	\$2,460.00	\$3.00	\$3,690.00
16 METER BOX (DFW PLASTICS, INC., MODEL NO. DFW 1300.12.IT), OR API EQUAL, COMPLETE IN PLACE	PROVED E	A 114	\$100.00	\$11,400.00	\$50.00	\$5,700.00	\$70.00	\$7,980.00
WATER ITEMS - SECTION 7 SUBTOTAL:				\$261,028.39		\$344,880.00		\$325,942.90
SANITARY SEWER ITEMS - SECTION 7								
1 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0'-12' CUT, TO INCLUDE BEI BACKFILL, COMPLETE IN PLACE	DDING AND LI	3092	\$45.00	\$139,140.00	\$45.00	\$139,140.00	\$49.00	\$151,508.00
2 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 12'-16' CUT, TO INCLUDE BE AND BACKFILL, COMPLETE IN PLACE	EDDING LI	997	\$50.00	\$49,850.00	\$50.00	\$49,850.00	\$50.00	\$49,850.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS

2) TEXASITE, LLC

3) BAY UTILITIES. LLC

FEBRUARY 1, 2024 LJA ENGINEERING, INC.

1) CE BARKER LTD.

C. DURHAM FEBRUARY 1, 2024 2139-3107D (9.2)

				1) CE BARKER L	ID.	2) TEXASITE	i, LLC	3) BAY UTILI	HES. LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST TO	OTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5553	\$0.01	\$55.53	\$2.00	\$11,106.00	\$0.10	\$555.30
4	STANDARD 4' DIAMETER SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES PLASTIC INFLOW PROTECTORS, PROTECTIVE INTERIOR COATING (XYPEX ADMIX C-1000R, OR APPROVED EQUAL) AND ADJUSTMENTS, COMPLETE IN PLACE	EA	18	\$3,500.00	\$63,000.00	\$4,100.00	\$73,800.00	\$3,700.00	\$66,600.00
5	STANDARD 5' DIAMETER SANITARY SEWER MANHOLE, (0-10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTORS, PROTECTIVE INTERIOR COATING (XYPEX ADMIX C-1000R, OR APPROVED EQUAL) AND ADJUSTMENTS, COMPLETE IN PLACE	EA	9	\$5,700.00	\$51,300.00	\$5,400.00	\$48,600.00	\$5,900.00	\$53,100.00
6	EXTRA DEPTH OF 4' DIAMETER STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	18	\$200.00	\$3,600.00	\$250.00	\$4,500.00	\$200.00	\$3,600.00
7	EXTRA DEPTH OF 5' DIAMETER SANITARY SEWER MANHOLE, (OVER 10' DEPTH), COMPLETE IN PLACE	VF	32	\$500.00	\$16,000.00	\$300.00	\$9,600.00	\$445.00	\$14,240.00
8	STANDARD SANITARY SEWER MANHOLE EXTERNAL DROP STRUCTURE, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$1,125.00	\$7,875.00	\$700.00	\$4,900.00	\$800.00	\$5,600.00
9	EXTRA DEPTH STANDARD SANITARY SEWER MANHOLE DROP STRUCTURE (OVER 2.0'), COMPLETE IN PLACE	VF	21	\$55.00	\$1,155.00	\$35.00	\$735.00	\$30.00	\$630.00
10	STANDARD SANITARY SEWER STACKS, ALL DEPTHS, COMPLETE IN PLACE	EA	25	\$1,050.00	\$26,250.00	\$580.00	\$14,500.00	\$400.00	\$10,000.00
11	SHORT SIDE SINGLE OR DOUBLE 6" GREEN PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER/STACK, WYE, PLUG, MARKER, MANHOLE DROPS, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	33	\$1,700.00	\$56,100.00	\$1,425.00	\$47,025.00	\$1,900.00	\$62,700.00
12	LONG SIDE SINGLE OR DOUBLE 6" GREEN PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER/STACK, WYE, PLUG, MARKER, MANHOLE DROPS, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1464	\$60.00	\$87,840.00	\$55.00	\$80,520.00	\$63.00	\$92,232.00
13	8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	4	\$250.00	\$1,000.00	\$215.00	\$860.00	\$40.00	\$160.00
14	REMOVE EXISTING 8" SANITARY SEWER PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$385.00	\$770.00	\$1,000.00	\$2,000.00
15	DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	110	\$20.00	\$2,200.00	\$20.00	\$2,200.00	\$30.00	\$3,300.00
16	UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STANDARD PROCTOR DENSITY (WITHIN 1 MILE OF ESCONDIDO OVERALL DEVELOPMENT LIMITS), COMPLETE IN PLACE	CY	2490	\$1.00	\$2,490.00	\$2.00	\$4,980.00	\$3.00	\$7,470.00
17	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 20' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	6	\$750.00	\$4,500.00	\$1,265.00	\$7,590.00	\$1,000.00	\$6,000.00
18	ADDITIONAL COST FOR SANITARY SEWER BEDDING & BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	550	\$15.00	\$8,250.00	\$15.00	\$8,250.00	\$15.00	\$8,250.00
19	EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
SANI	TARY SEWER ITEMS - SECTION 7 SUBTOTAL:				\$531,605.53		\$513,926.00		\$542,795.30

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS FEBRUARY 1, 2024

LJA ENGINEERING, INC. C. DURHAM FEBRUARY 1, 2024 2139-3107D (9.2)

EUA VOD NO.		-	100 01072 (0.2)					
			1) CE BARKEF	R LTD.	2) TEXASIT	E, LLC	3) BAY UTILITI	ES. LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DRAINAGE FACILITIES ITEMS - SECTION 7								
1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN OF PAVING, COMPLETE IN PLACE		1583	\$90.00	\$142,470.00	\$85.00	\$134,555.00	\$76.00	\$120,308.00
2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN OF PAVING, COMPLETE IN PLACE		401	\$110.00	\$44,110.00	\$108.00	\$43,308.00	\$97.00	\$38,897.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN OF PAVING, COMPLETE IN PLACE		252	\$150.00	\$37,800.00	\$152.00	\$38,304.00	\$136.00	\$34,272.00
4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN OF PAVING, COMPLETE IN PLACE		854	\$200.00	\$170,800.00	\$210.00	\$179,340.00	\$185.00	\$157,990.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDI AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN OF PAVING, COMPLETE IN PLACE		197	\$240.00	\$47,280.00	\$260.00	\$51,220.00	\$248.00	\$48,856.00
6 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3287	\$0.01	\$32.87	\$1.00	\$3,287.00	\$0.10	\$328.70
7 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES FINAL GRADE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	23	\$2,500.00	\$57,500.00	\$3,900.00	\$89,700.00	\$2,900.00	\$66,700.00
8 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES FINAL GRADE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$4,000.00	\$8,000.00	\$6,500.00	\$13,000.00	\$4,500.00	\$9,000.00
9 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH TYPE "E" INL TOP, ALL SIDES OPEN, INCLUDES FINAL GRADE ADJUSTMENTS, ALL DEPTHS COMPLETE IN PLACE		1	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00
10 STAGE I – REINFORCED CONCRETE TYPE "C" INLET, 5' OPENING, ALL DEPTHS INCLUDES TEMPORARY INLET PROTECTION BARRIER FOR STAGE FINLETS, COMPLETE IN PLACE	S, EA	20	\$1,300.00	\$26,000.00	\$1,850.00	\$37,000.00	\$2,400.00	\$48,000.00
11 STAGE II – REINFORCED CONCRETE TYPE "C" INLET, 5' OPENING, COMPLETE PLACE	IN EA	20	\$1,700.00	\$34,000.00	\$1,850.00	\$37,000.00	\$1,000.00	\$20,000.00
12 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$30.00	\$15,000.00
13 UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STANDARD PROCTOR DENSITY (WITHIN 1 MILE OF ESCONDIDO OVERALL DEVELOPMENT LIMITS), COMPLETE IN PLACE		3810	\$1.00	\$3,810.00	\$2.00	\$7,620.00	\$3.00	\$11,430.00
14 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, ALL SIZES & DEPTHS, (TO BE USED ON AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF LY	300	\$15.00	\$4,500.00	\$15.00	\$4,500.00	\$15.00	\$4,500.00
15 EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
16 REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOS STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	ED EA	2	\$2,000.00	\$4,000.00	\$300.00	\$600.00	\$1,800.00	\$3,600.00
17 DRAINAGE SWALE, "V" BOTTOM, INCLUDES EXCAVATION, HAULING AND GRADING, COMPLETE IN PLACE	LF	1275	\$3.00	\$3,825.00	\$3.00	\$3,825.00	\$4.50	\$5,737.50
DRAINAGE FACILITIES ITEMS - SECTION 7 SUBTOTAL:				\$602,127.87		\$662,259.00		\$592,819.20

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS

FEBRUARY 1, 2024 LJA ENGINEERING, INC.

C. DURHAM FEBRUARY 1, 2024 2139-3107D (9.2)

			1) CE BAR	KER LTD.	2) TEXASIT	E. LLC	3) BAY UTILIT	IES. LLC
ITEM DESCRIPTION	UN	IT QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS								
1 STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE E ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE		0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
2 STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE C COMPLETE IN PLACE	OWNER), HR	0	-\$125.00	\$0.00	-\$125.00	\$0.00	-\$125.00	\$0.00
3 FULL CONSTRUCTION STAKING FOR SECTION 7 WS&D ITEMS, COORD WITH GBI PARTNERS, L.P., KYLE DUCKETT, 281.499.4539, COMPLETE		1	\$18,640.00	\$18,640.00	\$18,640.00	\$18,640.00	\$18,640.00	\$18,640.00
4 AS-BUILT SURVEY FOR ALL LOT CORNERS, BUILDING LINE, BACK OF BACK OF LOT, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILI SURVEY, COORDINATE WITH GBI PARTNERS, L.P., KYLE DUCKETT, 28 COMPLETE IN PLACE	E OF	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
5 ADDITIONAL DUCTILE IRON FITTINGS (TO BE USED ONLY AT THE WRIDIRECTION OF THE ENGINEER), COMPLETE IN PLACE	TTEN TO	N 1	\$500.00	\$500.00	\$1.00	\$1.00	\$500.00	\$500.00
6 EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	BY THE CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
7 CONCRETE TRUCK WASHOUT PIT, TO INCLUDE INSTALLATION, MAINT AND REMOVAL, COMPLETE IN PLACE	TENANCE EA	. 1	\$750.00	\$750.00	\$50.00	\$50.00	\$500.00	\$500.00
8 STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, INSPEC MAINTENANCE OF ENTRANCE AND FENCE, NOI, NOT, ALL ITEMS NOT SPECIFICALLY LISTED ABOVE, COMPLETE IN PLACE		1	\$4,000,00	\$4,000.00	\$1,750.00	\$1,750.00	\$1,300.00	\$1,300.00
9 STABILIZED CONSTRUCTION EXIT, INSTALLATION, MAINTENANCE AND (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN F		1	\$2,000.00	\$2,000.00	\$200.00	\$200.00	\$2,800.00	\$2,800.00
10 SECTION 5 UTILITY SPOIL PILE (AT BACK OF BLOCK 1 AND 8) TO BE H. PLACED, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY (V. MILE OF ESCONDIDO OVERALL DEVELOPMENT), COMPLETE IN PLACE	WITHIN 1	16000	\$4.00	\$64,000.00	\$3.00	\$48,000.00	\$7.00	\$112,000.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$102,390.00		\$81,141.00		\$148,240.00
BIDDING SUMMARY SUBTOTAL WATER ITEMS - SECTION 7				\$261.028.39		\$344.880.00		\$325.942.90
SUBTOTAL SANITARY SEWER ITEMS - SECTION 7				\$531,605.53		\$513,926.00		\$542,795.30
SUBTOTAL DRAINAGE FACILITIES ITEMS - SECTION 7				\$602,127.87		\$662,259.00		\$592,819.20
SUBTOTAL MISCELLANEOUS ITEMS				\$102,390.00		\$81,141.00		\$148,240.00
TOTAL AMOUNT BASE BID				\$1,497,151.79		\$1,602,206.00		\$1,609,797.40

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS

FEBRUARY 1, 2024 LJA ENGINEERING, INC. C. DURHAM

FEBRUARY 1, 2024 2139-3107D (9.2)

			4)	KENNETH LAMB CON	STRUCTION CO.,LTD.	5) CROSTEX CONS	STRUCTION INC.	6) R CONSTRUCT	TON CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS - SECTION 7									
1 8" PVC WATER LINE PIPE, C-90 FITTINGS, BEDDING AND BACK	00, DR 18, CL 235, ALL DEPTHS, TO INCLUDE KFILL, COMPLETE IN PLACE	LF	2900	\$42.00	\$121,800.00	\$34.00	\$98,600.00	\$38.00	\$110,200.00
	00, DR 18, CL 235, RESTRAINED JOINT WATER LINE, TINGS, BEDDING AND BACKFILL, COMPLETE IN	LF	1037	\$50.00	\$51,850.00	\$42.00	\$43,554.00	\$51.00	\$52,887.00
	OR 18, CL 235, RESTRAINED JOINT WATER LINE, ALL IS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	22	\$110.00	\$2,420.00	\$98.00	\$2,156.00	\$170.00	\$3,740.00
4 TRENCH SAFETY SYSTEM, ALI	L DEPTHS, COMPLETE IN PLACE	LF	3959	\$2.00	\$7,918.00	\$0.05	\$197.95	\$0.10	\$395.90
	THS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE DRANT, TRENCH SAFETY, COMPLETE IN PLACE	EA	9	\$6,651.00	\$59,859.00	\$6,300.00	\$56,700.00	\$7,000.00	\$63,000.00
6 8" AWWA GATE VALVE AND BO COMPLETE IN PLACE	OX AND ADJUSTMENTS AS NECESSARY,	EA	16	\$1,833.00	\$29,328.00	\$1,750.00	\$28,000.00	\$2,200.00	\$35,200.00
7 8" PLUG AND CLAMP, COMPLE	TE IN PLACE	EA	5	\$439.00	\$2,195.00	\$205.00	\$1,025.00	\$250.00	\$1,250.00
8 2" BLOW-OFF VALVE AND BOX	C, COMPLETE IN PLACE	EA	5	\$1,200.00	\$6,000.00	\$1,085.00	\$5,425.00	\$850.00	\$4,250.00
	PLUG AND CLAMP & BLOW-OFF VALVE AND ER LINE, COMPLETE IN PLACE	EA	2	\$1,138.00	\$2,276.00	\$500.00	\$1,000.00	\$400.00	\$800.00
	" PLUG AND CLAMP & BLOW-OFF VALVE AND TER LINE, COMPLETE IN PLACE	EA	1	\$1,580.00	\$1,580.00	\$750.00	\$750.00	\$650.00	\$650.00
APPROVED EQUAL) FOR 8" WA BOX WITH 1/4" STEEL LID HOT	E VALVE (APCO MODEL 1430, VALMATIC 201C, OR ATERLINE, INCLUDES TRAFFIC MODEL CONCRETE DIP GALVANIZED, ALL FITTINGS AND ALL OTHER OF MAGNOLIA STANDARD DETAIL, COMPLETE IN	EA	9	\$3,610.00	\$3,610.00	\$2,100.00	\$2,100.00	\$5,800.00	\$5,800.00
WATER SERVICE, INCLUDES T	BLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9) RENCH SAFETY, CURB STOP, MARKER AND ALL LUGS AND TAPS, COMPLETE IN PLACE	EA	29	\$731.00	\$21,199.00	\$680.00	\$19,720.00	\$750.00	\$21,750.00
WATER SERVICE, INCLUDES T	E SERVICE, 1" (CTS POLYETHYLENE, SDR-9) RENCH SAFETY, CURB STOP, MARKER AND ALL LUGS AND TAPS, COMPLETE IN PLACE	EA	36	\$1,583.00	\$56,988.00	\$1,330.00	\$47,880.00	\$1,500.00	\$54,000.00
14 ADDITIONAL CAST IRON FITTIN	NGS, COMPLETE IN PLACE	TON	2	\$100.00	\$200.00	\$1,000.00	\$2,000.00	\$2,600.00	\$5,200.00
	SPREAD AND COMPACTED TO 95% STANDARD MILE OF ESCONDIDO OVERALL DEVELOPMENT	CY	1230	\$2.00	\$2,460.00	\$8.00	\$9,840.00	\$12.00	\$14,760.00
16 METER BOX (DFW PLASTICS, I EQUAL, COMPLETE IN PLACE	INC., MODEL NO. DFW 1300.12.IT), OR APPROVED	EA	114	\$74.00	\$8,436.00	\$30.00	\$3,420.00	\$25.00	\$2,850.00
WATER ITEMS - SECTION 7 SUBTOTA	AL:				\$378,119.00		\$322,367.95		\$376,732.90
SANITARY SEWER ITEMS - SECTION	17								
1 8" PVC SEWER PIPE, ASTM D-2 BACKFILL, COMPLETE IN PLACE	2241, SDR 26, 0'-12' CUT, TO INCLUDE BEDDING AND CE	LF	3092	\$41.00	\$126,772.00	\$38.00	\$117,496.00	\$45.00	\$139,140.00
2 8" PVC SEWER PIPE, ASTM D-2 AND BACKFILL, COMPLETE IN	2241, SDR 26, 12'-16' CUT, TO INCLUDE BEDDING PLACE	LF	997	\$46.00	\$45,862.00	\$43.00	\$42,871.00	\$47.00	\$46,859.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC.

5) CROSTEX CONSTRUCTION INC.

6) R CONSTRUCTION CIVIL, LLC

C. DURHAM FEBRUARY 1, 2024 2139-3107D (9.2)

4) KENNETH LAMB CONSTRUCTION CO.,LTD.

			4)	KENNETH LAMB CONS	TRUCTION CO.,LTD.	5) CROSTEX CONS	TRUCTION INC.	6) R CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
3	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5553	\$2.00	\$11,106.00	\$0.10	\$555.30	\$0.10	\$555.30
	STANDARD 4' DIAMETER SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES PLASTIC INFLOW PROTECTORS, PROTECTIVE INTERIOR COATING (XYPEX ADMIX C-1000R, OR APPROVED EQUAL) AND ADJUSTMENTS, COMPLETE IN PLACE	EA	18	\$4,080.00	\$73,440.00	\$3,600.00	\$64,800.00	\$4,500.00	\$81,000.00
	STANDARD 5' DIAMETER SANITARY SEWER MANHOLE, (0-10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTORS, PROTECTIVE INTERIOR COATING (XYPEX ADMIX C-1000R, OR APPROVED EQUAL) AND ADJUSTMENTS, COMPLETE IN PLACE	EA	9	\$5,485.00	\$49,365.00	\$5,500.00	\$49,500.00	\$7,000.00	\$63,000.00
	EXTRA DEPTH OF 4' DIAMETER STANDARD SANITARY SEWER MANHOLE, (OVER 3' DEPTH), COMPLETE IN PLACE	VF	18	\$325.00	\$5,850.00	\$360.00	\$6,480.00	\$300.00	\$5,400.00
	EXTRA DEPTH OF 5' DIAMETER SANITARY SEWER MANHOLE, (OVER 10' DEPTH), COMPLETE IN PLACE	VF	32	\$395.00	\$12,640.00	\$550.00	\$17,600.00	\$600.00	\$19,200.00
	STANDARD SANITARY SEWER MANHOLE EXTERNAL DROP STRUCTURE, ALL DEPTHS, COMPLETE IN PLACE	EA	7	\$1,280.00	\$8,960.00	\$750.00	\$5,250.00	\$600.00	\$4,200.00
	EXTRA DEPTH STANDARD SANITARY SEWER MANHOLE DROP STRUCTURE OVER 2.0'), COMPLETE IN PLACE	VF	21	\$50.00	\$1,050.00	\$75.00	\$1,575.00	\$20.00	\$420.00
10	STANDARD SANITARY SEWER STACKS, ALL DEPTHS, COMPLETE IN PLACE	EA	25	\$466.00	\$11,650.00	\$400.00	\$10,000.00	\$950.00	\$23,750.00
:	SHORT SIDE SINGLE OR DOUBLE 6" GREEN PVC PIPE SERVICE LEADS, ASTM D- 2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER/STACK, WYE, PLUG, MARKER, MANHOLE DROPS, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	33	\$1,864.00	\$61,512.00	\$1,990.00	\$65,670.00	\$1,600.00	\$52,800.00
:	LONG SIDE SINGLE OR DOUBLE 6" GREEN PVC PIPE SERVICE LEADS, ASTM D- 2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER/STACK, WYE, PLUG, MARKER, MANHOLE DROPS, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	1464	\$61.00	\$89,304.00	\$53.00	\$77,592.00	\$55.00	\$80,520.00
13	B" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	4	\$180.00	\$720.00	\$100.00	\$400.00	\$100.00	\$400.00
	REMOVE EXISTING 8" SANITARY SEWER PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, COMPLETE IN PLACE	EA	2	\$250.00	\$500.00	\$1.00	\$2.00	\$150.00	\$300.00
	DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	110	\$20.00	\$2,200.00	\$30.00	\$3,300.00	\$20.00	\$2,200.00
	JTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STANDARD PROCTOR DENSITY (WITHIN 1 MILE OF ESCONDIDO OVERALL DEVELOPMENT LIMITS), COMPLETE IN PLACE	CY	2490	\$2.00	\$4,980.00	\$8.00	\$19,920.00	\$12.00	\$29,880.00
	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 20' SECTION FOR RESTRAINED JOINT AWWA 2900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	EA	6	\$100.00	\$600.00	\$500.00	\$3,000.00	\$1,800.00	\$10,800.00
	ADDITIONAL COST FOR SANITARY SEWER BEDDING & BACKFILL FOR JNSATISFACTORY SOIL CONDITIONS (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	550	\$15.00	\$8,250.00	\$15.00	\$8,250.00	\$15.00	\$8,250.00
	EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
SANIT	ARY SEWER ITEMS - SECTION 7 SUBTOTAL:				\$519,761.00		\$499,261.30		\$573,674.30

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LJA JOB NO.

DRAINAGE FACILITIES ITEMS - SECTION 7 SUBTOTAL:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS FEBRUARY 1, 2024 LJA ENGINEERING, INC. C. DURHAM

4) KENNETH LAMB CONSTRUCTION CO.,LTD. 5) CROSTEX CONSTRUCTION INC. 6) R CONSTRUCTION CIVIL, LLC ITEM DESCRIPTION UNIT QTY **UNIT COST** TOTAL COST UNIT COST TOTAL COST **UNIT COST** TOTAL COST DRAINAGE FACILITIES ITEMS - SECTION 7 1 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING \$144,053,00 LF 1583 \$80.00 \$126.640.00 \$83.00 \$131.389.00 \$91.00 AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, COMPLETE IN PLACE 2 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING LF 401 \$101.00 \$40 501 00 \$105.00 \$42 105 00 \$44 110 00 AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, COMPLETE IN PLACE 3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING LF 252 \$140.00 \$35,280.00 \$144.00 \$36,288.00 \$155.00 \$39,060.00 AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, COMPLETE IN PLACE 4 42" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING LF 854 \$195.00 \$166,530.00 \$191.00 \$210.00 \$179,340.00 AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, COMPLETE IN PLACE 5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, TO INCLUDE BEDDING LF 197 \$244.00 \$48,068.00 \$229.00 \$45,113.00 \$265.00 \$52,205.00 AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, COMPLETE IN PLACE 6 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE LF 3287 \$2.00 \$6,574.00 \$164.35 \$328.70 \$0.05 \$0.10 7 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES FINAL \$84,640.00 EΑ 23 \$3.680.00 \$3,600.00 \$82,800,00 \$4,000.00 \$92,000.00 GRADE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 8 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES FINAL FΑ \$7,223.00 \$14 446 00 \$6,100,00 \$12,200.00 \$7,600,00 \$15,200,00 GRADE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 9 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH TYPE "E" INLET FΑ \$5,155.00 \$5,155.00 \$4,000.00 \$4,000.00 \$4,100.00 \$4,100.00 TOP, ALL SIDES OPEN, INCLUDES FINAL GRADE ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE 10 STAGE I - REINFORCED CONCRETE TYPE "C" INLET, 5' OPENING, ALL DEPTHS, \$1,450.00 \$29,000.00 \$3,000.00 \$60,000.00 \$1,400.00 \$28,000.00 INCLUDES TEMPORARY INLET PROTECTION BARRIER FOR STAGE LINLETS, COMPLETE IN PLACE 11 STAGE II – REINFORCED CONCRETE TYPE "C" INLET, 5' OPENING, COMPLETE IN EA 20 \$2,510.00 \$50,200.00 \$800.00 \$16,000.00 \$2,500.00 \$50,000.00 12 DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE LF 500 \$20.00 \$10,000,00 \$20.00 \$10.000.00 \$20.00 \$10,000.00 ENGINEER), COMPLETE IN PLACE 13 UTILITY SPOIL TO BE HAULED, SPREAD AND COMPACTED TO 95% STANDARD CY 3810 \$2.00 \$7.620.00 \$8.00 \$30,480,00 \$12.00 \$45,720.00 PROCTOR DENSITY (WITHIN 1 MILE OF ESCONDIDO OVERALL DEVELOPMENT LIMITS), COMPLETE IN PLACE 14 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, ALL SIZES & DEPTHS, (TO BE USED ONLY LF 300 \$15.00 \$4,500.00 \$15.00 \$4,500.00 \$15.00 \$4,500.00 AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 15 EXTRA CEMENT STABILIZED SAND (TO BE USED ONLY AT THE WRITTEN CY 100 \$50.00 \$5,000.00 \$50.00 \$5,000.00 \$50.00 \$5,000.00 DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 16 REMOVE AND DISPOSE OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED FΑ 2 \$250.00 \$500.00 \$250.00 \$500.00 \$1,700,00 \$3,400,00 STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE 17 DRAINAGE SWALE, "V" BOTTOM, INCLUDES EXCAVATION, HAULING AND LF 1275 \$5.00 \$6.375.00 \$3.50 \$4,462,50 \$4.00 \$5,100.00 GRADING, COMPLETE IN PLACE

FEBRUARY 1, 2024

2139-3107D (9.2)

FRN F-1386 LJA Engineering, Inc.

\$648,115.85

\$722,116.70

\$641,029.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE ESCONDIDO SECTION 7 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF MAGNOLIA E.T.J., MONTGOMERY COUNTY, TEXAS

FEBRUARY 1, 2024 LJA ENGINEERING, INC. C. DURHAM

FEBRUARY 1, 2024 2139-3107D (9.2)

				(
			4) h	ENNETH LAMB CONS	STRUCTION CO.,LTD.	5) CROSTEX CONST	TRUCTION INC.	6) R CONSTRUCTI	ON CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS									
	ARIANCE REQUESTS SUBMITTED BY THE ENGINEER ACTOR, (TO BE USED ONLY AS DIRECTED BY THE PLACE	EA	0	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00	-\$1,000.00	\$0.00
2 STANDARD DEDUCT FOR ST COMPLETE IN PLACE	TREET CLEANING (AS DIRECTED BY THE OWNER),	HR	0	-\$125.00	\$0.00	-\$125.00	\$0.00	-\$125.00	\$0.00
	ING FOR SECTION 7 WS&D ITEMS, COORDINATE (YLE DUCKETT, 281.499.4539, COMPLETE IN PLACE	LS	1	\$18,640.00	\$18,640.00	\$21,000.00	\$21,000.00	\$18,640.00	\$18,640.00
BACK OF LOT, INCLUDES A	LOT CORNERS, BUILDING LINE, BACK OF PAD AND CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF H GBI PARTNERS, L.P., KYLE DUCKETT, 281.499.4539,	LS	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
5 ADDITIONAL DUCTILE IRON DIRECTION OF THE ENGINE	FITTINGS (TO BE USED ONLY AT THE WRITTEN ER), COMPLETE IN PLACE	TON	1	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
6 EXTRA CEMENT STABILIZED ENGINEER), COMPLETE IN F	SAND (TO BE USED ONLY AS DIRECTED BY THE PLACE	CY	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
7 CONCRETE TRUCK WASHOT AND REMOVAL, COMPLETE	UT PIT, TO INCLUDE INSTALLATION, MAINTENANCE IN PLACE	EA	1	\$150.00	\$150.00	\$750.00	\$750.00	\$500.00	\$500.00
	PREVENTION PLAN COMPLIANCE, INSPECTIONS, CE AND FENCE, NOI, NOT, ALL ITEMS NOT /E, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$1,003.90	\$1,003.90	\$1,100.00	\$1,100.00
	N EXIT, INSTALLATION, MAINTENANCE AND REMOVAL, CTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
PLACED, AND COMPACTED	LE (AT BACK OF BLOCK 1 AND 8) TO BE HAULED, TO 95% STANDARD PROCTOR DENSITY (WITHIN 1 ALL DEVELOPMENT), COMPLETE IN PLACE	СҮ	16000	\$3.00	\$48,000.00	\$8.00	\$128,000.00	\$11.00	\$176,000.00
MISCELLANEOUS ITEMS SUBTOTA	AL:				\$82,791.00		\$165,254.90		\$210,241.00
BIDDING SUMMARY SUBTOTAL WATER ITEMS - SECTION	ON 7				\$378.119.00		\$322.367.95		\$376,732.90
SUBTOTAL SANITARY SEWER ITE					\$519.761.00		\$499.261.30		\$573.674.30
SUBTOTAL DRAINAGE FACILITIES					\$641,029.00		\$648,115.85		\$722,116.70
SUBTOTAL MISCELLANEOUS ITEM					\$82,791.00		\$165,254.90		\$210,241.00
TOTAL AMOUNT BASE BID					\$1,621,700.00		\$1,635,000.00		\$1,882,764.90

Page 9 of 9 FRN F-1386 LJA Engineering, Inc.